EARAROBREBRT —5 XN—ZXBISH—F

202348308 (B) 10EEE1H

8B 1 HSH—E \(9&1@1 /J\Elﬁ‘ (st - | 5 1000 ®
[AXE%&]) 17&:700,000 ~ 23&:245,000 9  337%&:140,000H . 43#%&:91,000 5 3&:49,000 &
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
53 t 5 | BT 1:13.1 9-6 36.3| — 4 507 | EERHE (KR)
1B 3| T1Y 5.0 ) Ly | e
RiFRF BISRINGIUR IANA 5
b3~ 8 7 | HER 1:13.5 2-3 37.8| — 2 459 | MER OKR)
7 g| 7TV VR 54.0 2 1/2 () |ELAEDR
R:FVH—T I —IPIFFY WO =i
- o LLIZAEES 113, - . - I\FUEEAE (BRRE)
31700l vTUFOYY 4| LA 1(71?:)6 32 |37.8 3 21&1) /J\M%L\gﬂ
R:707% B:FEa—kovay BRAt ™AL —ZvItEVY
~ = LLIAER S : - - FE=E (KR
418|12| BF/TVASY B 5 | LA 1(71?15) 35 I8 1 ?-7:) s 2
R:ibh—tr>5— B:IILBTs—Ib N L8805
. ROBE— 13, - . - RIESAI (KR
5056 JIVRT—0O "7 56.0 1(11/32)7 8 372 6 1’2(1);) 2EHB— ’
RiFVYPY/FEE BI—IYTFAT I r BN
S Rgg_ # 5 | BLRF 1:13.8 109 [36.9] — | 9 | 45 |=F=E (KR
6|8[11| TI¥—KERY 54.0 =8) o | 7TV
RibSVEYR BIRYUANLRY— BRI
= (ELAES 4. - . — {EEwE (KGR
717 9| F=PTURF 4~ o8 | ELATE 1(12:%1 1-10 | 37.0 5 (3_93 e 7
R:RU—LYvy—=— B:p—FZIRFU— ~—7 415
4 9 | BERRE 1:14.1 3-4 38.3| — 8 450 | EEEEE) (KR)
8l111| MLYU 54.0 @) (1) |RHEIES
RiFvyvH /% B:EVIRLIUY BRI
BaIERLEE 4. - . - {E4ARBA] (KR)
9 4| ZB1L—2 #o8 | [ 1(163 67 | 38.2 7 (5_19(; e 7
R:NA40 B:YVaTIyvxRIL =g el
L P i 6 | EAS 1:14.7 1-1 39.2| — | 10 | 450 |SH=E KR
10kl 7 | IYVYF =7 5.0 @172 (r5) | BB
RiXAY3OR—5— B:LAZY [ e
<, = P EHRE :15. — . — BREASLE (B%RE)
M BEZEZaNe: v 8 | PAR 1 (165) 7 8-10  |39.0 1 (,:?(7)) Bl
R:xA1ZI7—R B:LFT7zU—F A~ S
~ )T 4 | g9k 1:17.2 12-12 [39.7| — | 12 | 451 |HBEHRZ (E%E)
12/5| 5| ADOYITTVT # 56.0 ©) o) |BxEE
R:bwO—)LR &:3)bAH0OY b pAEaE 2]
® I1—JF—BEEIEfI
13—7+—
20—F—
Sal=zr= 7.8,(1,10,12) ,4,6,2,3,11,9,5
43— — 7,10,8,1,12,3,4,6,11,(2,9) ,5
o ILRE
B B 3 990MH JA R 3-8 640 % 5E 3-6 1,170 3EE 3-8-10 3,340
7B B 3 290M 3-10 980M | | B = 3-8 2,240 | | 3= 3-8-10 35,590M
8 1403 8-10 5803 | | B B 3-8 4,820
10 230M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




